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=4 (RK 701) fif&hFH (RF 905) d D H G D I /]
GLY~ 18186 10 18 5 57 17.1 3 1.5
GLY- 12 12 20 5 57 19.1 3 1.5
GLY= 14 14 22 5 S.r 21.1 3 1.5
Gly= 716 16 24 5 5.7 23.1 3 1.5
GLY- 18 18 26 5 57 251 3 1.5
GLY- 20 GLY- 20F 20 28 5 5.7 271 3 1.5
GLY- 224 GLY- 22.4F 22.4 30 5 5.7 29.1 3 1:5
GLY- 25 GLY- 25F 25 33 5 57 324 3 1.5
GLY~ 28 28 36 5 57 351 3 1.5
GLY- 30 GLY- 30F 30 40 6 7 39 3 3
GLY=" 315 31.5 41.5 6 1 40.5 3 3
GLY- 32 32 42 6 7 41 3 3
Gl="35 GliY= "35F 35 45 6 7 44 3 3
GliY="35'5 355 455 6 7 44.5 3 3
GLY="86 GLY- 36F 36 46 6 7 45 3 3
GLY- 40 GLY- 40F 40 50 6 ¥4 49 3 3
GLY- 45 GLY- 45F 45 55 6 7 54 3 3
GLY="50) GLY- 50F 50 60 6 7 59 3 3
GLY- 53 GLY- 53F 53 63 6 7 62 3 3
GLY=! 55 55 65 6 7 64 3 3
GLY- 60 GLY- 60F 60 70 6 7 69 3 3
GLY- 63 63 73 6 7 72 3 3
BIEV= b5 65 75 6 7 74 3 3
GLY- 70 GLY- 70F 70 80 6 T 79 3 3
GEY= 75 75 85 6 i 84 3 3
GLY- 80 80 a0 6 7 89 3 3
GLY- 85 85 100 9 10 98.5 4 4
GLY- 951109 95 110 9 10 108.5 4 4
GLY- 100 GLY- 100F 100 115 9 10 1135 4 4
GLY- 105 105 120 9 10 118.5 4 4
GLY- 110 GLY- 110F 110 125 9 10 123.5 4 4
GLY- 125 125 140 9 10 138.5 4 4
GLY="135 135 150 9 10 148.5 4 4
GLY- 145 GLY- 145F 145 160 9 10 158.5 4 4
GLY-160 1759 160 175 9 10 173.5 4 4
GLY- 165 165 180 9 10 1785 4 4
GLY- 180 GLY- 180F 180 200 12 13 198 5 5
GLY- 200 220 12 200 220 12 13 218 5 5
GLY- 215 215 235 12 13 233 5 5
GLY- 230 GLY- 230F 230 250 12 13 248 5 5

K THEN - BMAEE. ROHREFICTIERT 20,
KPP IFUHEYELO L0, EELTEY 4.
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